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1. Answer the following as directed : 1x8=8
oS fHaTead fctpie Seg i
fa) Define indifference curve.

Faeers @R wAgE o

(b) Slope of the budget line is positive.
(Write True or False)

T @ Ol 4N | (311 & fagy foram)

fc) When total product is maximum,
marginal product starts declining.
(Write True or False)

@ P Seom TA® =W, AT Tewm
3’0 4T | (351 ¢ farmy forn)
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(3)

(2)
2. Answer any six of the following questions :
(d) Diminishing MRTS results in isoquants 2x6=12
being convex/concave to the origin. TR R R @ 2R T i
(Choose the correct option) (a) Give two examples of fixed costs.
TP MRTS T I3 S8AM (I91 (FES
; o7 29 q7 |
oS Twe /oee 77 | Rt < b
(o s afz Sfenear) (b) Define expansion path of a firm.
(e) State briefly the essence of Say’s law @< AfSBT TREFTRA 43 Sl i |
of market.
Distinguish between average revenue
qe 51 R T SeE © -
L P Sall and marginal revenue.
(/  What kind of inflation is caused by TG oY HF AT SR Iere <1< o |
an increase in wages and import
prices? (d) Explain the effect of income change
ﬂ'\ﬁﬁ IF SEEE 79 2{[%? oo F 9] and price change of a good on the
E_EP‘!?TI% Eu budget line of a consumer.
: T P TS TR (@I GRS O AT A Bl
(g9 In a perfectly competitive market, FNIE 79 AfRTE] e T T4
average revenue = ;
(Fill in the blank) (¢ Draw the indifference curves for
Tf ARSI IS, T Y = | perfect  substitutes and  perfect
complements.
(1R 31 =31 ) P
. o s e 7y e AHAN Faers
() Adam Smith advocated autarky as (SRIRC RIS DIl
an economic policy.
(Write True or False) (/) What is normal profit?
o iy T RER 9% SEfee Gife AT =S %7
freet feart R | (571 @ fargy fore)
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(4) (S)

(g) State and explain the equation of (b) Explain the following properties :  2%x2=5

exchange. .
R e Seary 9 < =41 | o Rk

(i) Indifference curve slopes from left

(h) What is the difference between .
precautionary motive and speculative to right.
motive of demand for money? e @1 ASFER o[ G oifs
TR oM Sfedel wfeen wE T A |
SRR e 1<l 2
_ (i) Two indifference curves cannot
()  Briefly state the components of Keynes’ intersect.
aggregate effective demand. YO fFECer (IR 0100 FRT TR |
G WL AP BRI SR SF Sead
911 () When are L-shaped isoquants obtained?
. . Explain.
() What is comparative advantage in P
production? L-Spfeq STeeama (@91 (Ffou ¢l T 2
SR G SR 2 BURISSIN
3. Answer any four of the following questions : (d) State @d discuss the law of variable
Sx4=20 proportions.
O IR R e wiRker e fa - “fRadTe were REAG Te Ff[ e

(@) Prove that the marginal rate of T

substituti
ution (MRS) between two goods () Why is the average revenue curve

is t?qual to the absolute slope of the
Iindifference curve and also equal to
the ratio of marginal utilities.

I A R A Reg e 29
(MRS) R a9 weoifiess v s o

A= Terzifarom TSR ST |
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under monopoly downward sloping?
Discuss.

GFCHHA ITES T WE @91 RN =W o
SICEE-T 4T |
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(6)

() Ilustrate the factors that cause
demand-pull inflation.

TRmSTS JEFRe FEbS T FRICEH 39T

E&IN i
(g9 How does Keynes’ theory differ from

the quantity theory as a theory of

demand for money?

R v og Bt (@2 ogol AR o

1 T 2% 2
(h) Discuss the benefits of free

international trade.

T& (IeR e SRUCER S 391 |

4. Answer any two of the following questions :
10x2=20

TR 2ReARd R e gor e

(a) Explain consumer’s equilibrium with
indifference curves. Also show that price
effect is the sum-total of income and
substitution effects. 5+5=10
e @9 (S STSeR ST A ;‘
4| FCS (S (@ W dOR (TR H HE

5 2[ORd S |
(b) Explain in detail the laws of returns
to scale. 10
oo AR Afewe Rfdch Regesa i
SN
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(c) Explain the credit creation process
of commercial banks. How does the
Central Bank influence the capacity of
credit creation by the commercial
banks? 6+4=10

T @7 49 R AfeFEee wRm 4@
@I @ALE M @9 99 R T
e 2ol %[ 31 ?

(d) Discuss the classical theory of full
employment. Examine Keynes’ critique
of the classical theory. 6+4=10

of faeR IAle ©gor SIemT < |
(M ©EoR 8RS (I SHICEADAICAR
o] 41 |

(e) Distinguish between the static and
dynamic gains from trade. Discuss
how trade helps achievement of gains
from consumption and gains from
production. 4+6=10

e B o feRE ArSERT Wed AL
el @91 | Qe R TATeR A S
BT =TS G 2T FCE, S 40
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